1.15. Tétel. Tetszbleges A, B, C' halmazokra

ANA=A, AUA = A,
ANB=BnNA, AUB = BU A,
(ANB)NC =ANn(BNC), (AUB)UC =AU (BUC),
(AUB)N A=A, (ANB)UA = A,
(AuB)NC = (ANB)UC =
(AnC)u(BNC), (AuC)N(BUC).

1.19. Tétel. Tetszdleges A, B (C U) halmazokra

ANB=AUB, AUB=AnNB,
A=A,
ANA=90, AUA=T,
ANU=A4A, AuU=1U,

ANd =0, AUD = A.

1.15. Tétel. Tetszdleges A, B, C' halmazokra

ANA=A, AUA=A,
ANB=BNA, AUB=BUA,
(ANB)NC=ANn(BNC), (AUB)UC =AU (BUC),
(AUB)NA=A4, (ANB)UA=A,
(AUB)NC = (ANB)UC =
(ANnC)u(BNC(C), (AuC)N(BUCQC).

1.19. Tétel. Tetszdleges A, B (C U) halmazokra

ANB=AUB, AUB=ANB,
A=A,
ANA=90, AUA=T,
ANU = A, AUU =T,

ANQ =10, AU =A.

1.15. Tétel. Tetszbleges A, B, C' halmazokra

ANA=A, AUA=A,
ANB=BNA, AUB=DBUA,
(ANB)NC=AnNn(BNC), (AUB)UC =AU (BUCQC),
(AUB)NA= A, (ANB)UA = A,
(AUB)NC = (ANB)UC =
(AnC)u(BNC(C), (AuC)N(BUCQC).

1.19. Tétel. Tetszdleges A, B (C U) halmazokra

ANB=AUB, AUB=AnNB,
A=A,
ANA=0, AUA=T,
ANU = A, AUuU =T,

AND =0, AUD=A.
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